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Booklet A (28 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct answer.

Vithich one of B Tolowsing & noka fvieg Sing?

{1}

i

A) 1
B) 2
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v
C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,112
Question 2 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
Carah hought & hamater from (he pet slor in Jamuary ‘“"’“““"“.““‘h‘h“ T
raorihe latar, she measured B haight agaim.
Janusary ‘Miarch
Hased o her observalion, Sassh concluded that the hamster fs a fing thing because
w2
A) die
v' B) grow

C) reproduce

D) respond to change

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,124
Question 3 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Tl knbile belos shovws hiow some fng things can B grauped.

[ oing Toigs |

e S

- %
| Geoupx Grosp Y |
o

Dickpmad
Yeast . FR
(X TET Eani-figal lesn

\Wibich oo af the folowing is e mast suilable heading for group X7

v A) fungi
B) plants
C) bacteria
D) animals
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,157
Question 4 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Fulrine warted ko find cul if planks take bn waler Shrough thed roots.

He prepaoed fow setups A, B, C and . Each safup conlains a similar plant wilh
some of the plant parts removed o5 shown below. Each setep conlains 250 i of

wabar,
plastic (kd pilastic i
gal-up A setup B sk satap D

Wikl b sal-ups above abould Adrsin use te conduct a Euir s’

A) AandB
B) BandC
v C) AandC

D) AandD

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
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Question 5

A) is shiny
v' B) s strong

C) sinks in water

Question Type:
Randomize Answers:

poloared water.

mabarial —

N/A
25,205,175

D) conducts heat well

Multiple Choice
No

A caspanier used a hammer in hil & nad inte a pineg o wood.

Gleel is imed -t make e hammer bacsuge gleai
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Primary 4 Science » Primary 4 Science (Term 4)

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,191
Question 6
Madk eonductad an sepermunt ko complare

Primary 4 Science » Primary 4 Science (Term 4)

it shsorbency of different malens®s. He
placed four stips of malerials ¥, X, ¥ and 2, of ienbical sim, info 2 basin of red-
coineed water for 10 minubes. Mark econded his ebssrvalisns as shen in e
diagram below. He shadad the part of each msberial that bod abserbed e omd-

B o rend-
crfoured wialel

Based on 1ha on lhe diagram atova, shich of the following shows the most soilabie
matadal io maka @ rainsoal, kandkarchiof ard inilel papas?

] Faincoat

Handkorc it Toilnt paper

i " L] ¥ ;
{2 W r ®

(] * ¥ x

@l w i 2 ¥ il
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A) 1
B) 2
C) 3
v’ D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,203
Question 7 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

he dagram below shows a syige Aled i 20 om? al air. Tha nozrhe was Sealisd
beafoae (e phunger waa pushed in

—_— B parTle

plunges 20 om? of sl

Whatwaz tha wolome of 8if &iter tha plungor was pusled nd

A) 0Ocm3
B) 20cm3
¥ C) less than 20cm3

D) more than 20cm3

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,227
Qu estion 8 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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A) 50ml
v' B) 52ml
C) 50.2ml

D) 51.5ml

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

BAlE.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:
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The diagram beims shows & measuring cyirler containing hgud Y.

What is the volume of iquid Y%

Multiple Choice
No

Thu 3rd Dec 2020
N/A

25,205,249

Wity dioas W Lins read 1o piet on his dentres Before be 1008 2aing?

A) They help to digest the food
B) They help to release digestive juices into his mouth
v C) They help to break down the food into smaller pieces

D) They help to make food soft and wet so that it can be swallowed easily

Muiltiple Choice
No

Thu 3rd Dec 2020
N/A

25,205,270
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KA Lir, wha s B8 yaars oid, needs bopat o s denlufas [fates teadh) bzl he
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Question 10

{1

15!:|'n3'
Demd
Gom?

(]

A) 1
v B) 2
c) 3
D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

A) they can be seen

Question Type:
Randomize Answers:

— plunger
WG

Multiple Choice
No

Thu 3rd Dec 2020
N/A

25,205,275

v’ B) they take up space
C) they have fixed shapes

D) they have fixed volumes

Multiple Choice
No

()

L]

15 oo
10 am=

5 cmd
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Stany fiied a cylinder with 5 com? ofwaker and ssalked it with a plunger as shown Below,

Whal would Slacsy ses gffar she pﬂh&r.l the plunger dowmsans a3 far a5 she cowld
wilhaut any alror water escaping 7

— plurges
ar
wakar

Primary 4 Science » Primary 4 Science (Term 4)

Which one of the following properties is true for both air and a block of ice?
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Question 12

Tiva diagram halow
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Thu 3rd Dec 2020
N/A
25,205,351

Primary 4 Science » Primary 4 Science (Term 4)

shows A syringe (hal was l‘nam.namﬂaiﬂlhrnqhntum.

plisnger pulled back :
cantames with

capacity of 250
E—— {00 em of wabar

wyringe

Each lime (ha plingsr o the syzinge was pullad back complalely. 30 cnd? of air wiuld
be drawr il of T contaner. Which ane of e fallowing shows. the cornect uolheme
af air and waber In the conlainer alter the plunger was pulked back completely anee™

Question Type:

Question 13

Wolume of air (cm?) Valuma of water {cnr)
) A0 S 130
12) 120 e ‘Iﬂﬂ_ - |
& 10 3
) 180 1000
A) 1
B) 2
v C) 3
D) 4

Muiltiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020
Last Modified: N/A

QID#: 25,205,360
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Tha sal-up bealaw shdnie |i.gi'|l l3"|i"|||1-l,;,l ¥ & wWiddon cong
i
| 43 =
tarch WwoodsEn cofns EorERn
Which enr of the falioeing shadoes waukd moet Bosly be sasn on Me Scrsen?
(e 2k
o i) l ' |
A) 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,379
Question 14 Primary 4 Science » Primary 4 Science (Term 4)
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Tiw gragh befow shows (s pumber of days it takes for each staga in (he ife cycles
of Bnsorts W anid X

12 1
10
L8 =
=
G
& 4 . minsact W
E 4 ¥ Onacct X
53
‘B il . Giage
Foo Lana Pupa
Wibich siage would insect W and ¥ e in, on the 219 day of lheir e oycles?
Inmact W Imgact X
(M Leava Lava
] Larsa Pupa
(4] Pupa Larvs
] Puipa Pupa
A) 1
B) 2
C) 3
v D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,385
Question 15 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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A compass has & smafl magnat That can okle freshy as shoan

Hordf pale afa
small magret

Four bar magneds were aranged such that thay wers aliracted w0 one ancther. &
Compass was then placed near and A ard the drection of the compass naadie s &8

shun hablow.
COHMEaEE @:

g
r
L2

Wihat would be the dirsclion af (he needle when he compass was pladed al pasifon
B3

in l i) .

(3 L]
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,406
Question 16 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Stiidy the hman dgesfve systam belos

Which of the fulinwing correcily identifes amgan E ad 8 function?

Question 17

Crgan E Fumnction |
i Lange inlesline Hommes wialer.
2} Largs intasting Degessts oo compleishy.
0 Small inteating Absaits digested fooad nboe Hﬂm
[ Semall infasting Breaks down food oo simpler subslances,
v A) 1
B) 2
C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,489
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The classFication chard below zhows h@hﬁmmmwh—m;nhﬂ

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Question Type:
Randomize Answers:

Multiple Choice
No

Thu 3rd Dec 2020
N/A

25,205,500

Hlamar plages a melal saoce inlo 8 cup of hol coffes,

o cup of hot coffos
The spoan becomes hol after a while. Which one of {he lollowing axplaies why?

A) The cup loses heat to the spoon
B) The spoon loses heat to the hot coffee
C) The hot coffee gains heat from the spoon

v D) The spoon gains heat from the hot coffee

Muiltiple Choice
No

oyeinms.
Cans
| I
e Fimlet " Blood vessals
Which-one of the following malbches e baman bedy systams (o the respeciioe argans
correciy?
Windgipe Ciullat Bipod vosools
1} Respiratary Circilatary Digastia
1) Digaativa Respiralony Circrdaiony
=) Resspimaiony Diigestive: Claiutnry
4 Civculatory Resgiralony Drgegtive |
A) 1
B) 2
v C) 3
D) 4

Primary 4 Science » Primary 4 Science (Term 4)
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Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,519
Qu estion 1 9 Primary 4 Science » Primary 4 Science (Term 4)

The tabis beiow shawes the properiies of Bies matters P, 0 and B

Matter —]
Has a definile volume - 2 e
Has a definite shage v X L
Con be sampressad X « x
Which of tha folowmng best repreaant P, O and R
P Q R
M |  pestine il wind
43 it ahwminmm fod
&1} alaminum fai air |
{4} wired ail plasticina
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,531
Question 20 Primary 4 Science » Primary 4 Science (Term 4)

Hiashim fried an egg i a pan s shown in the disgram belos:

Ha ks adis o hokd the frying pan using the plastc handlke. This is bocauss plastcis &

A) light material
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B) flexible material
v' C) poor conductor of heat

D) good conductor of heat

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,545
Question 21 Primary 4 Science » Primary 4 Science (Term 4)

Hding camied oul an axpaetiment with o aal-ups, 5 and T, & shown in (he diagram
belewy, Boll sel-ups wers placed in the Science (aboralory with @ mem femperalura
af 270,

Whiaker in
b frough ai
L7

Which of the fofowing would be obsered two minutes after the fask was plced s
the irough of wader in set-vpa 5 and TF

Dbservation for seb-up 5 Ohsareation for set-up T
{13 Tm:u'np.ullruul;vﬂmn 'I'hn:l'l:.p-.:li't'u.ﬂl:ﬂ-.
[Z3 'ﬂn-impnﬁtﬂmhl The elrog af ink well Aee.

@ | The waterfevel in the rmugh will rise.| The wadnr kel in the iough will fail
{4} Thex waber bayel in the rough will Bl | The saler Tl in i loegh il ree.

A) 1
v B) 2

C) 3

D) 4

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 3rd Dec 2020
Last Modified: N/A

QID#: 25,205,562
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1_ praashoppar, misquin and fog

|

bt s s bao duestions?

Primary 4 Science » Primary 4 Science (Term 4)

Wi Ling classilied (he Bues nmmmhuuf-humquum It

=

'E.I:uﬂﬁit.ﬂ.

Cestion B

)] Dt 1 e fovasr-slage (e cycle? Do it bass s young siage?

12y Doea & have Tour-stags [@s oycke? Does Ui el aak ke e young?

B0 | Doosif have tee-atage e oca? Do lhva adull loelk Foa 1 yourg?

(@) | Doesithaee thees-stane s cycle? [I-mlt:aﬂ.lh!:agmfnw:.m'?

A) 1
v B) 2
C) 3
D) 4
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,574

Question 23
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LY

{5)

A) 1
B) 2
c) 3
v' D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 24

Laook ab the piclang bk,

Multiple Choice
No

Thu 3rd Dec 2020
N/A

25,205,585
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— famp

Wit ona of fhe Tolowing shows bhow Swee Gan !-EEETHIEII}UHNHI'EHHE?

Primary 4 Science » Primary 4 Science (Term 4)
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hmﬂnmuummmmmhmnmhh

icholas: shame a iorch on & peada al woodan cylinder snd a shadow was kmod on
me;mn:mmqmﬂmmxam:.mmmum

Question 25

whesus thas boblom uiee of 2 g magnet.

Diiagrm 1 Diaygram &

hetem af e mageet af PesiSon X, Y end Z7

iftmgram el
Gyieier
'l - "
Posltion Posllon Poston
A B c
VWhich of e Bilowing somecdy rapresents tha result=?
Height of shadaw (cm)
Posilion A Position 8 TR

(1 T 7 "
@ 7 : 15 g 11
m [ i :
) 7 ii] i

A) 1

B) 2

v C) 3

D) 4

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,589
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Diimgram 1 batows showe 3 Aing magnel wered anle 8 ay of oo aeils. Diagram @

Wikt oo o e fellowing mest Bealy shows the nunsher of fron naiks aliracied fo the

Position X Position ¥ Position 2
i) T 7 T}
s 7 15 i
=¥ 18 15 15 o
) T 1 15 ]
A) 1
B) 2
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v C) 3

D) 4

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,596

Question 26 Primary 4 Science » Primary 4 Science (Term 4)

Dense condocied an espariment to vestigale the amaumt of light that cauld pass
trrowgh tbrea gheats W, X and ¥ wiich wers made of different imabariale. The lhea
differen| shesbs v posifonad in we ged-ups P and 0 8¢ shown in the disgrams

bedov,
Wi x ¥ i W =
[ﬂi:ﬂ'l barch ]
_rl-rl'_l_l_l—'rrrl"l Tt TTITITTI T Y I T T TR R T gt
Sam 10am 1J:T| ";Tm EI-:..m 1I'.'I|4;-|11 1511311. El}lm
|____ mat-up P sef.up

The disionce traveksd by tha light lee sach sefugs was measured and ihe results are
showm in Be graph beiowe

20 7

15 :
dislance '
Iravuwes{led 1
by lignt ' '

cm
{cmp 5 4
R
F ]

gal-up

Wihlch of the Ioliosing comeclly descibe shealks W, K and ¥7

Do it allow light to pess through?
W a X b
{1} s 10 Yas Bl
iz} s ko Y
3 g ho B
) Ha s Yis

A) 1
v B) 2
c) 3
D) 4
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Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,611
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Tha disgrasn bolow shows what happanad bafors and after an ima bal was besled

I von fing._ Iv

e

T=—  on Dall
Beforn heating Aftor haating

Vihat could be done 1o anable the iron ball bo pess through the: ifod ring againd®

Plas tha irnn hall in o heaker of G0 waier
Places Uws fron ring i a boaker of ice watac.
Place: fher iton ball in & bagkar of bailing westes.
Pisca tha inan ring i & badinr of boifing walss”.

OO m e

A) AandBonly
v' B) AandD only
C) BandDonly

D) CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,625
Question 28 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Tisa clisgram bekrs shows three shapes, a square, & shir and a cirde, each made of
differant molails,

Sty 6o

The fhrea coi-ouls wene fun hisy b Delwesn thetarch and swhile scraen at diffesnt -
pasiticas A, B and C. When 1he toech was swiiched on, & shadow was cast on e
screan a5 shoan i e disgeam ba o

|~ Sehesan

Ecn | Gcm G

Eﬂn amsm }m s&}lsw 4

wirky i [ircatil Wi

Based on e obseomifon of ihs shadow faomed on the someen, which of Be Tofowing
slalerogrin wre comect?

A The cirde iz pearerin e lerch (han the slar

B The scudee i furflser foom the orgh fan fhe circla.

¢ The stardoss nat afiow Gght s pass thragh

D Thé squar allows more ighl 1o poes hrough than Sie cicls

A) Aand Conly
B) AandB only
C) BandDonly

v' D) CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,205,640
Question 29 Primary 4 Science » Primary 4 Science (Term 4)
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it
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was designed in such a way that it requires manual assistance.

T dlagram befow shows the stages i the M cpce of & cockmach.

[a) Mame skaga Q.

Accepted answers:

¥ nymph

Question Type: Free Text

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,657

Question 30 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
State one other insect that has a similar life cycle as a cockroach
Accepted answers:
v grasshopper
v’ dragonfly
¥’ Damselfly
Question Type: Free Text
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,853
Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Question 31
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e dlicrgrarm e abrows thes shages in ths ife copole of o plaal.
A B
Ghicoss the comeal words from the box to answer e cupestion beiow,
A:
A) egg
v B) seed
C) young plant
D) adult plant
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,872
Question 32 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
B
A) egg
B) seef
v C) young plant
D) adult plant
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,878
Question 33 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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The diagran:s balow shaw by plants.

[a) Based on thadisgrams abawe, which stage of e IHe cycden @rg both plainta
a7 Explmin your Bnswer 1

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A

QID#: 25,205,888

Correctly answered feedback
Both plants bear fruits and flowers as they are at the adult stage.

Incorrectly answered feedback
Both plants bear fruits and flowers as they are at the adult stage.

Qu estion 34 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

On diagram A and B, label with the letter "X", the part of the plant that helps support the leaves, flowers
and fruits

Please type "done™ to proceed to the next question

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,913

Correctly answered feedback
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Incorrectly answered feedback

Question 35 Primary 4 Science » Primary 4 Science (Term 4) O pts

Explain why it is important for the plant labelled in (b) to hold the leaves up in both plants?

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,205,943

Correctly answered feedback
The part labelled X helps to support the leaves to absorb more sunlight to make food for the plant

Incorrectly answered feedback
The part labelled X helps to support the leaves to absorb more sunlight to make food for the plant

Question 36 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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The characheristios of animals P €, R and 5 ane described in the teble bekow.

Charasteristefs)

Animal
B It gives birth b young alive:
i ﬂhﬂmﬁmﬁhmmudw
R Ithnnlh-'hna ﬂﬁm:m“‘d'mmfn?&m'amﬂu.
& Etsﬁn]ﬂrmmmhﬁlﬁnugﬁ farual, pupal and adilt stages

Animal Gk and B have boen iden@Sad in the fow chat 5hoem bebow.

Arimil

Mo Doas i have thrae tha
tepily prst=? i

Cluestion ¥

stages e cyele?

Ca]

fias Mo | [figas & have s Bres-

fa)  Whatwould quastion ' ikely be?

Cipesiion v,

Anikral
H_

Ll

Question Type: Essay

Date Added:

Last Modified:

QID#:

Thu 3rd Dec 2020
N/A
25,205,967

Correctly answered feedback
Does it breathe through its moist skin and lungs?

Incorrectly answered feedback
Does it breathe through its moist skin and lungs?

Question 37

Which animal,

P or S, does A2 represent? Explain your answer.

Question Type: Essay

Date Added:

Last Modified:

QID#:

Thu 3rd Dec 2020
N/A
25,206,034

Correctly answered feedback
Animal S. It has three body parts and a four-stage life cycle

Incorrectly answered feedback
Animal S. It has three body parts and a four-stage life cycle

Primary 4 Science » Primary 4 Science (Term 4)

0 pts
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Question 38 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Give an example of animal Q

Accepted answers:
v frogs
¥ toads

v’ Salamander

Question Type: Free Text

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,206,046

Question 39 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

s ploced Four g imdar alives of braad in four idenbcal sealed Bowes. e
:-ﬁ.l:ﬂllhﬂ-hﬂbﬂ foand 0 in hﬂhﬁnmrmmﬂumﬂuﬂmmml
Finld, SUBBEATRE £ BSOS Wt Tam e surrsunding.

bowA trefrigersie . box [echodl kAd)
f_.f" substaren F bk
o
b O (ralrigeraion

box C schoot leld)

sulzslani £

&

Adftesr i Wk, Jursm found biack palches growing on the bread in ons
al e boxes, Whal are the iack paicles? ) [t]

cah

Accepted answers:
¥ mould
¥ bread mould

v’ Fungi

Question Type: Free Text

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,206,067

Question 40 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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In which box, A, B, C or D did Jerome find the black patches? Explain why

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,080

Correctly answered feedback
Box C. All living things water, warmth, air and food to grow.

Incorrectly answered feedback
Box C. All living things water, warmth, air and food to grow.

Qu estion 41 Primary 4 Science » Primary 4 Science (Term 4)

Jerome compared his observations of the bread in boxes A and C. What was he trying to find out?

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,099

Correctly answered feedback
Jerome wants to find out if temperature affects the growth of the black patches

Incorrectly answered feedback
Jerome wants to find out if temperature affects the growth of the black patches

Question 42 Primary 4 Science » Primary 4 Science (Term 4)

The dRagram bedow shews the (ife cycle of tavo living things.,

N
", B

{a¥ Wihy is B impodant for hing things io bave snoadull stags in their ife
=F = L : (|

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,112
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Correctly answered feedback

Incorrectly answered feedback

Question 43

ClassMarker - Manage Test

The tabie bedow showes the recullz of hea siudy,

Only the adult stage can reproduce and ensure the continuity of their own kind.

Only the adult stage can reproduce and ensure the continuity of their own kind.

Primary 4 Science » Primary 4 Science (Term 4)

Farmer Tan studied the effect af the temperabee on the halching of chicken egos

i

—————

MNumber of eqggs hatched

astC

G

G

E LA

T

nmﬁ'ﬁl:ﬁha

tho mast numbar of chicken sgos?

Accepted answers:
v 39
v’ 39 degree

v’ 39 degree celcius

Question Type: Free Text

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,128

Question 44

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,152

Correctly answered feedback

Incorrectly answered feedback

i Emﬂmuumumw:mﬂﬁaﬁ:hﬂmmhm

i

Primary 4 Science » Primary 4 Science (Term 4)

What is the relationship between the temperature and the number of eggs hatched?

The higher the temperature, the higher the number of chicken eggs hatched until the temperature
of 40° C the number of chicken eggs hatched would decrease

The higher the temperature, the higher the number of chicken eggs hatched until the temperature
of 40° C the number of chicken eggs hatched would decrease
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Qu estion 45 Primary 4 Science » Primary 4 Science (Term 4) 1.2 pts

Tha diagram below shaws four objscks A, B, C and D of ienboal eire placed on a
lever balancs.

(a)  Amange the objecs according te thelr mass, baginning wilh the greabest

P U
Match the options below:

Clue Match

Greatest mass B
Points: +0.3 =0

Great mass D
Points: +0.3 =0

Small mass A
Points: +0.3 =0

Smallest mass C
Points: +0.3 =0

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 3rd Dec 2020

Last Modified: N/A

QID#: 25,206,312
Qu estion 46 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Penoy placad two idenfical cubes mada of dferenit malerfals, info b beskers;
aach contaireng 2000md of waler.

B)  Penry than obearvad thal e waler levet in besfer A @ higher thar in
baaker B, Explain vy, 7
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Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,331

Correctly answered feedback

The iron cube sinks and occupies more space while the Styrofoam cube floats and occupy less
space in the water

Incorrectly answered feedback

The iron cube sinks and occupies more space while the Styrofoam cube floats and occupy less
space in the water

Qu estion 47 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
Ciagsfy the follewing inlo natter snd pon-matier 1]
uiraor samnd haal
A pretrcd ghus
Matior Nen-matior |

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,349

Correctly answered feedback

Matter: sand, glue, petrol
Non-matter: heat, light, thunder

Incorrectly answered feedback

Matter: sand, glue, petrol
Non-matter: heat, light, thunder

Question 48 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Mrs Spermer plﬂ::edaa.ha:lbalthafw-a: heabed o 85°C imo the trough. Sha then
placed snme |oe cubes intbo it

{a}  Afer 10 minutes, Mrs Spenser observed thal all the ice cubss mekad,
G & rgason forher obsersalion 1]

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,409

Correctly answered feedback
The ice cubes gained heat from the hot steel ball

Incorrectly answered feedback
The ice cubes gained heat from the hot steel ball

Question 49 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

After 10 minutes, Mr Spenser observed that all the ice cubes melted. Give a reason for her
observation.

Question Type: Essay

Date Added: Thu 3rd Dec 2020
Last Modified: N/A
QID#: 25,206,421

Correctly answered feedback
The steel ball lost heat to the ice cubes.

Incorrectly answered feedback
The steel ball lost heat to the ice cubes.

Question 50 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Correctly answered feedback

Incorrectly answered feedback
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Correctly answered feedback

Incorrectly answered feedback

Question 52

{a}  What iz ihe ristionship babesan distance 7 and Be height of the shadow?

The shorter/greater the distance Z, the smaller/longer the shadow will be

The shorter/greater the distance Z, the smaller/longer the shadow will be

[
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Explain how the shadow of the metal sheet is formed on the white screen.

A shadow is formed when light is blocked by the metal sheet.

A shadow is formed when light is blocked by the metal sheet.
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Athirah then replaced the metal sheet with a similar sized piece of frosted plastic sheet. Explain how
the shadow formed by the frosted plastic sheet is different from the shadow former by the metal sheet.

Question Type: Essay
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Correctly answered feedback
Frosted plastic is translucent/allows some light to pass through, so shadow formed is lighter

Incorrectly answered feedback
Frosted plastic is translucent/allows some light to pass through, so shadow formed is lighter
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Correctly answered feedback
The temperature of water in set-up B is decreasing faster than set-up A

Incorrectly answered feedback
The temperature of water in set-up B is decreasing faster than set-up A
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Correctly answered feedback
Air is a poor conductor of heat and would slow down heat gain from the hot object to the user's
hand

Incorrectly answered feedback
Air is a poor conductor of heat and would slow down heat gain from the hot object to the user's
hand
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Based on the results above, which material E, F, G or H is the most suitable to make a pair of
swimming google lens? Explain your answer
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Correctly answered feedback
Material H, because it is transparent/ allows the most light to pass through so that the swimmer can
see through it.

Incorrectly answered feedback
Material H, because it is transparent/ allows the most light to pass through so that the swimmer can
see through it.
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Correctly answered feedback
Position X as Daniel can cast a bigger shadow when he is nearer to the lighted lamp

Incorrectly answered feedback
Position X as Daniel can cast a bigger shadow when he is nearer to the lighted lamp
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